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Addition, Subtracnon Multl lwn an Dv1510n

Directions: Seolve each eqma‘imz and use a pencil to DRAW the object that corresponds

your answer. SHOW Y OQUR STEPS!!]
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. 22X+ 1 =7

" &Yy your answer is

ears.
i Cb) If your answer is

x = 4 Jraw the following
srem' i —— s __,—j____.L.—_——J

x =3 draw the following d
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4x -—h2
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| ] (a) If yox;r answer is
x = &4 draw the following
classes and cyes.

| draw a small patch of hatr
of the head.

¢n the 1o
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L () If your answer 19

(b) If your answer is x = 2 ¥ el g (b
fotlowing g'asscs and eyes.

draw a smal patch of hair |
above each of the sars.

4. 14 = 11x + 3

L

| (a) If your answer 3 x = 1
{ draw the following LARGE

o>

nose and muatache, ‘

(0) I vour answer isx =11 |
drew the following LARGE
nose and mustache.
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6 + 8x = -38

(a) If your ANSWEE 1§
x =4 draw the following
skiany eyebrows.
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3 + 6X = 45
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(a) If your answer iz X = 8
draw two wrinkls {mes on
the forebead,
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(&) 3f your answer is
x = -4 ¢raw the

foliowmg bushx EYELTOWS,

- (0) 1fyour answer §
| diaw three wrinkde fines on
| the furehead,

-
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s X =7 !
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i 7. 3X-"'"-]O ~— "]

(a) If vour answer is } |
' B
i X =3 draw two wrinkle
‘ nes on cavi cheek,

- (b) If vour answer 1s

- x = ~3 draw three
wrinkle lines on each

- cheek,
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25 = 25 + 5x

(a) H vour anywer is is
x = ) draw a necktie
k on the shirt,

2 + 6x = 16

(8) If your answer isX = 3

water (HIO) on the shirt,

{b) If vou VOUL Answer iy

x =1 draw a bow tie
ot: the shirt.

(b) if your answer s X=2

a pockel on the shirt,

write the scientific term for

draw 2 percil coming out of

—




0. 2+ 7% =

- Ss aem tYw
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65

{(3) If your anawerig x = 9
~ draw a Light bulb above the
_head.

(b) I yoaur arswer

is X = B draw a broken

>

hgl_:x_t bulb above the head. ! J
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{a) If your answer is
i X =2 draw e sclence
beaker with bubbling

i L&UIQ

{b) If your answer 13

X = -2 draw a scieace
heaker on fire.

(a) If your answer 1s
x= 4 write the formula

A =+ 6k on the background.
‘b) If your answer 1s
x==]1 wrile {Zre formuls
s-me* on the background.
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13. 3x+5=14

—p—
 (2) If your answer is X = —3

" color the ears vellow.

| (b} If your answer 1s X
I color the ears orange,
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14. -10=-4x-10

(a) If your answer 15 X — ' ’

color the hair on the head brown ;
(b) If your answeris X = 0

e e —

e R B
(a) If your answer is X = 3
coler the eyes green.

| (b) If your answer is X = 4

i
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16x—2= - 46

l
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+ ¢olor the glasses red.

L(b) If your answer is X = 3

(a) If your answer i3 X = =3

‘ " color the glasses purple.

1

|_color the hair on the head gray. | l_colorth es blue.
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|17 19 =2x +3 18. 5x-7 = -67
|
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! e (a) If your answer1s x = ~12 l
| @) [Fyou answgr sx =38 color the mustache ra
(b) If YOUr answer 15 0= 1 1 00101:_ the mustache bro W, ,
| w—
color the nose red. j - .
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(2} f your answer is x = 4 |
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. : a) if vour aaswer s X = 2 (d) i )ou* ANSWer s £ :t; |
outline all the fzcial wiinkles in (
browa. - o | | color the eyebrows brown. J4 ‘C’;’;‘; ‘; ”'::W 5 o
(L) of yous d!lSWt:f WX wa B i (b} If YOUr answar £ X = 3 | Y 4oa |
' culug the Le red.
| ;;Ahlr\m il the facial wrinkles in | || color the cYchIows gray, , T - T i
L N— | - - . ]
L—-—-i—i A o WL.\H‘.‘W“ T s . - S
| Sk R=27 3. 12=10x+12 | 24, 2x—9=-3 .!
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; {(a) If your answeris x = 3 . L R
| gllmi]r:e all the letters/numbers in 1 (a) If your answer is X = ] ] (a) I vour aaswer is ¥ = 3 f *
ack. , 4
Moy mmenr g | oorteshityeliow || | colorthe fce, necc & ams orange. | | |
' s | » pv b
outline all the letters/numbers in nE (B) If your answer is X = 0 (0} If your answer is X = -0 g
‘{ ‘ red. ~ . color the shirt bhue. " | color the face, neck, & arms vellow. |
A i S S i ot S owmi: . oo — = --.----._.-.«....-..._...t .....-.:'.......- — 1]
1 25. -15+4x =33 26. 84 =-20x+ 4 27. 5x+4=24
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(2) If vour answer is ¥ = [2 || {a)[ Iff;:tu AnSWET is X = —4 _’ : | (a) If your answeris A = 3 ? 1
‘ color the light bulb yellow. b co or‘ ._gggw S L colot the background red. — |
(b) If your answ;x o — 48 S i ) If your answeris x =4 | (h) If your answer 15 x = 4 |
. | color the bizaker red. | color the background green. 4
colorthe lightbulb orange. =~~~ | ——— = == e,
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